

SOME PROPERTIES OF GENERALIZED HADAMARD PRODUCTS FOR ANALYTIC FUNCTIONS WITH NEGATIVE COEFFICIENTS

M.K. AOUF, T.M. SEUDY, G.M. EL-HAWSH

ABSTRACT. Using the generalized modified Hadamard product, we obtain some interesting characterization theorems for classes of uniformly starlike and uniformly convex functions.

2000 *Mathematics Subject Classification:* 30C45.

Keywords: Analytic function, Hadamard product uniformly starlike, uniformly convex, Hölder inequality.

1. INTRODUCTION

Let $\mathcal{T}(n)$ denote the class of analytic functions in the open unit disc $\mathbb{U} = \{z \in \mathbb{C} : |z| < 1\}$ of the form:

$$f(z) = z - \sum_{k=n}^{\infty} a_k z^k \quad (a_k \geq 0; n \in \mathbb{N} \setminus \{1\} = \{2, 3, \dots\}). \quad (1.1)$$

For $0 \leq \alpha < 1$, let $\mathcal{ST}(\alpha)$ and $\mathcal{CT}(\alpha)$ be the subclasses of \mathcal{T} which are starlike functions of order α and convex functions of order α , respectively, (see Silverman [8]).

A function $f \in \mathcal{T}(n)$ is said to be in the class $\mathcal{ST}(\alpha, \beta)$ of uniformly starlike functions of order α and type β in \mathbb{U} if the following inequality holds

$$\operatorname{Re} \left(\frac{zf'(z)}{f(z)} - \alpha \right) > \beta \left| \frac{zf'(z)}{f(z)} - 1 \right| \quad (0 \leq \alpha < 1; \beta \geq 0; z \in \mathbb{U}). \quad (1.2)$$

Also, a function $f \in \mathcal{T}(n)$ is said to be in the class $\mathcal{CT}(\alpha, \beta)$ of uniformly convex functions of order α and type β in \mathbb{U} if the following inequality holds

$$\operatorname{Re} \left(1 + \frac{zf''(z)}{f'(z)} - \alpha \right) > \beta \left| \frac{zf''(z)}{f'(z)} \right| \quad (0 \leq \alpha < 1; \beta \geq 0; z \in \mathbb{U}). \quad (1.3)$$

The classes $\mathcal{ST}(\alpha, \beta)$ and $\mathcal{CT}(\alpha, \beta)$ were introduced and studied by Bharati et al. [2], Goodman [5, 6] and Kanas and Srivastava [7]. From (1.2) and (1.3), we note that

$$f \in \mathcal{CT}(\alpha, \beta) \Leftrightarrow zf' \in \mathcal{ST}(\alpha, \beta), \quad (1.4)$$

and

$$\mathcal{ST}(\alpha, 0) = \mathcal{ST}(\alpha), \quad \mathcal{CT}(\alpha, 0) = \mathcal{CT}(\alpha) \quad (0 \leq \alpha < 1).$$

For $p_i \geq 1$ and $\sum_{i=1}^m \left(\frac{1}{p_i}\right) \geq 1$, the Hölder inequality is defined by (see [1]):

$$\sum_{i=2}^{\infty} \left(\prod_{j=1}^m a_{i,j} \right) \leq \prod_{j=1}^m \left(\sum_{i=2}^{\infty} a_{i,j}^{p_i} \right)^{\frac{1}{p_i}}. \quad (1.5)$$

Let $f_j \in \mathcal{T}(n)$ ($j = 1, 2$) be given by

$$f_j(z) = z - \sum_{k=n}^{\infty} a_{k,j} z^k \quad (n \geq 2; j = 1, 2), \quad (1.6)$$

then the modified Hadamard product (or convolution) ($f_1 * f_2$) is defined by

$$(f_1 * f_2)(z) = z - \sum_{k=n}^{\infty} a_{k,1} a_{k,2} z^k = (f_2 * f_1)(z) \quad (n \geq 2). \quad (1.7)$$

For any real numbers p and q , the generalized modified Hadamard product ($f_1 \Delta f_2$)($p, q; z$) defined by (see Choi and Yong [3]):

$$(f_1 \Delta f_2)(p, q; z) = z - \sum_{k=n}^{\infty} (a_{k,1})^p (a_{k,2})^q z^k \quad (n \geq 2). \quad (1.8)$$

In the special case, if we take $p = q = 1$, then

$$(f_1 \Delta f_2)(1, 1; z) = (f_1 * f_2)(z) \quad (z \in \mathbb{U}). \quad (1.9)$$

In the present paper, we make use of the generalized Hadamard product to obtain some interesting characterization theorems involving the classes $\mathcal{ST}(\alpha, \beta)$ and $\mathcal{CT}(\alpha, \beta)$.

2. MAIN RESULTS

In order to prove our results for functions belonging to class $\mathcal{ST}(\alpha, \beta)$ and $\mathcal{CT}(\alpha, \beta)$, we shall need the following lemmas given by Bharati et al. [2].

Lemma 1. [2]. Let the function f be defined by (1.1), then f is in the class $\mathcal{ST}(\alpha, \beta)$ if

$$\sum_{k=n}^{\infty} [(1 + \beta)k - (\alpha + \beta)] a_k \leq 1 - \alpha \quad (n \geq 2). \quad (2.1)$$

Lemma 2. [2]. Let the function f be defined by (1.1), then f is in the class $\mathcal{CT}(\alpha, \beta)$ if

$$\sum_{k=n}^{\infty} k [(1 + \beta)k - (\alpha + \beta)] a_k \leq 1 - \alpha \quad (n \geq 2). \quad (2.2)$$

Theorem 3. If the functions f_j ($j = 1, 2$) defined by (1.6) are in the class $\mathcal{ST}(\alpha_j, \beta)$ ($j = 1, 2$). Then

$$(f_1 \Delta f_2) \left(\frac{1}{p}, \frac{p-1}{p}; z \right) \in \mathcal{ST}(\delta, \beta), \quad (2.3)$$

where $p > 1$ and δ is given by

$$\delta = \min_{k \geq n} \left\{ 1 - \frac{(k-1)(1+\beta)}{\left[\frac{(1+\beta)k - (\alpha_1 + k)}{1 - \alpha_1} \right]^{\frac{1}{p}} \left[\frac{(1+\beta)k - (\alpha_2 + k)}{1 - \alpha_2} \right]^{\frac{p-1}{p}} - 1} \right\}.$$

Proof. Since $f_j \in \mathcal{ST}(\alpha_j, \beta)$, then by using Lemma 1, we have

$$\sum_{k=n}^{\infty} \frac{(1 + \beta)k - (\alpha_j + \beta)}{1 - \alpha_j} a_{k,j} \leq 1 \quad (j = 1, 2; n \geq 2). \quad (2.4)$$

Moreover

$$\left[\sum_{k=n}^{\infty} \frac{(1 + \beta)k - (\alpha_1 + \beta)}{1 - \alpha_1} a_{k,1} \right]^{\frac{1}{p}} \leq 1, \quad (2.5)$$

and

$$\left[\sum_{k=n}^{\infty} \frac{(1 + \beta)k - (\alpha_2 + \beta)}{1 - \alpha_2} a_{k,2} \right]^{\frac{p-1}{p}} \leq 1. \quad (2.6)$$

Applying the Hölder inequality (1.5) to (2.5) and (2.6), we obtain

$$\sum_{k=n}^{\infty} \left[\frac{(1 + \beta)k - (\alpha_1 + \beta)}{1 - \alpha_1} \right]^{\frac{1}{p}} \left[\frac{(1 + \beta)k - (\alpha_2 + \beta)}{1 - \alpha_2} \right]^{\frac{p-1}{p}} (a_{k,1})^{\frac{1}{p}} (a_{k,2})^{\frac{p-1}{p}} \leq 1. \quad (2.7)$$

Since

$$(f_1 \Delta f_2) \left(\frac{1}{p}, \frac{p-1}{p}; z \right) = z - \sum_{k=n}^{\infty} (a_{k,1})^{\frac{1}{p}} (a_{k,2})^{\frac{p-1}{p}} z^k \quad (n \geq 2), \quad (2.8)$$

we see that

$$\sum_{k=n}^{\infty} \left[\frac{(1+\beta)k - (\delta + \beta)}{1 - \delta} \right] (a_{k,1})^{\frac{1}{p}} (a_{k,2})^{\frac{p-1}{p}} \leq 1 \quad (n \geq 2), \quad (2.9)$$

with

$$\delta \leq \min_{k \geq n} \left\{ 1 - \frac{(k-1)(1+\beta)}{\left[\frac{(1+\beta)k - (\alpha_1 + \beta)}{1 - \alpha_1} \right]^{\frac{1}{p}} \left[\frac{(1+\beta)k - (\alpha_2 + \beta)}{1 - \alpha_2} \right]^{\frac{p-1}{p}} - 1} \right\}.$$

Thus, by using Lemma 1, the proof of Theorem 3 is completed.

Putting $\alpha_j = \alpha$ ($j = 1, 2$) in Theorem 3, we obtain the following corollary.

Corollary 4. *If the functions f_j ($j = 1, 2$) defined by (1.6) are in the class $\mathcal{ST}(\alpha, \beta)$. Then*

$$(f_1 \Delta f_2) \left(\frac{1}{p}, \frac{p-1}{p}; z \right) \in \mathcal{ST}(\alpha, \beta) \quad (p > 1). \quad (2.10)$$

Theorem 5. *If the functions f_j ($j = 1, 2$) defined by (1.6) are in the class $\mathcal{CT}(\alpha_j, \beta)$ for $j = 1, 2$, then*

$$(f_1 \Delta f_2) \left(\frac{1}{p}, \frac{p-1}{p}; z \right) \in \mathcal{CT}(\delta, \beta), \quad (2.11)$$

where $p > 1$ and δ is given by

$$\delta = \min_{k \geq n} \left[1 - \frac{(k-1)(1+\beta)}{\left(\frac{(1+\beta)k - (\alpha_1 + \beta)}{1 - \alpha_1} \right)^{\frac{1}{p}} \left(\frac{(1+\beta)k - (\alpha_2 + \beta)}{1 - \alpha_2} \right)^{\frac{p-1}{p}} - 1} \right].$$

Proof. Since $f_j \in \mathcal{CT}(\alpha_j, \beta)$ by using Lemma 2, we have

$$\sum_{k=n}^{\infty} \frac{k [(1+\beta)k - (\alpha_j + \beta)]}{1 - \alpha_j} a_{k,j} \leq 1 \quad (j = 1, 2; n \geq 2). \quad (2.12)$$

Thus the proof of Theorem 5 is much akin to that of Theorem 3 by using lemma 2 instead of lemma 1.

Putting $\alpha_j = \alpha$ ($j = 1, 2$) in Theorem 5, we obtain the following corollary.

Corollary 6. *If the functions f_j ($j = 1, 2$) defined by (1.6) are in the class $\mathcal{CT}(\alpha, \beta)$. Then*

$$\left(f_1 \Delta f_2 \right) \left(\frac{1}{p}, \frac{p-1}{p}; z \right) \in \mathcal{CT}(\alpha, \beta) \quad (p > 1). \quad (2.13)$$

Theorem 7. *Let the functions f_j ($j = 1, 2, \dots, m$) defined by (1.6) be in the class $\mathcal{ST}(\alpha_j, \beta)$ ($j = 1, 2, \dots, m$), and let $F_m(z)$ be defined by*

$$F_m(z) = z - \sum_{k=n}^{\infty} \left[\sum_{j=1}^m (a_{k,j})^p \right] z^k \quad (z \in \mathbb{U}; n \geq p \geq 2; n \geq 2). \quad (2.14)$$

Then

$$F_m(z) \in \mathcal{ST}(\delta, \beta) \quad (m \geq 2), \quad (2.15)$$

where

$$\delta = 1 - \frac{m(n-1)(1+\beta)}{\left[\frac{(1+\beta)n - (\alpha+\beta)}{1-\alpha} \right]^p - m},$$

where

$$\alpha = \min_{1 \leq j \leq m} \{ \alpha_j \}$$

and

$$\left[\frac{(1+\beta)n - (\alpha+\beta)}{1-\alpha} \right]^p \geq m[(1+\beta)n - \beta].$$

Proof. Since $f_j \in \mathcal{ST}(\alpha_j, \beta)$ by using Lemma 1, we observe that

$$\sum_{k=n}^{\infty} \frac{(1+\beta)k - (\alpha_j + \beta)}{1 - \alpha_j} a_{k,j} \leq 1 \quad (j = 1, 2, \dots, m; n \geq 2), \quad (2.16)$$

and

$$\sum_{k=n}^{\infty} \left[\frac{(1+\beta)k - (\alpha_j + \beta)}{1 - \alpha_j} \right]^p (a_{k,j})^p \leq \left[\sum_{k=n}^{\infty} \frac{(1+\beta)k - (\alpha_j + \beta)}{1 - \alpha_j} a_{k,j} \right]^p \leq 1. \quad (2.17)$$

It follow from (2.17) that

$$\sum_{k=n}^{\infty} \left\{ \frac{1}{m} \sum_{j=1}^m \left[\frac{(1+\beta)k - (\alpha_j + \beta)}{1 - \alpha_j} \right]^p (a_{k,j})^p \right\} \leq 1. \quad (2.18)$$

Putting

$$\alpha = \min_{1 \leq j \leq m} \{\alpha_j\}, \tag{2.19}$$

and by virtue of Lemma 1, we find that

$$\begin{aligned} & \sum_{k=n}^{\infty} \frac{(1+\beta)k - (\delta + \beta)}{1 - \delta} \left[\sum_{j=1}^m (a_{k,j})^p \right] \\ & \leq \sum_{k=n}^{\infty} \left\{ \frac{1}{m} \left[\frac{(1+\beta)k - (\alpha + \beta)}{1 - \alpha} \right]^p \left[\sum_{j=1}^m (a_{k,j})^p \right] \right\} \\ & \leq \sum_{k=n}^{\infty} \left\{ \frac{1}{m} \sum_{j=1}^m \left[\frac{(1+\beta)k - (\alpha_j + \beta)}{1 - \alpha_j} \right]^p (a_{k,j})^p \right\} \leq 1 \end{aligned} \tag{2.20}$$

If

$$\delta \leq 1 - \frac{m(1+\beta)(k-1)}{\left[\frac{(1+\beta)k - (\alpha + \beta)}{1 - \alpha} \right]^p - m} \quad (k \geq n).$$

Now let

$$g(k) = 1 - \frac{m(1+\beta)(k-1)}{\left[\frac{(1+\beta)k - (\alpha + \beta)}{1 - \alpha} \right]^p - m}. \tag{2.21}$$

Then $g'(k) \geq 0$ if $p \geq 2$. Hence

$$\delta = 1 - \frac{m(1+\beta)(n-1)}{\left[\frac{(1+\beta)n - (\alpha + \beta)}{1 - \alpha} \right]^p - m}. \tag{2.22}$$

By

$$\left[\frac{(1+\beta)n - (\alpha + \beta)}{1 - \alpha} \right]^p \geq m[(1+\beta)n - \beta],$$

we see that $0 \leq \delta < 1$. Thus the proof of Theorem 7 is completed.

Theorem 8. Let the functions f_j ($j = 1, 2, \dots, m$) defined by (1.6) be in the class $\mathcal{CT}(\alpha_j, \beta)$ for $j = 1, 2, \dots, m$, and let $F_m(z)$ be defined by

$$F_m(z) = z - \sum_{k=n}^{\infty} \left(\sum_{j=1}^m (a_{k,j})^p \right) z^k \quad (z \in \mathbb{U}; n \geq p \geq 2).$$

Then

$$F_m(z) \in \mathcal{CT}(\delta, \beta) \quad (m \geq 2), \tag{2.23}$$

where δ is given by

$$\delta = \left\{ 1 - \frac{m(1+\beta)(n-1)}{n^{p-1} \left[\frac{(1+\beta)n - (\alpha+\beta)}{1-\alpha} \right]^p - m} \right\}, \quad \alpha = \min_{1 \leq j \leq m} \{\alpha_j\},$$

and

$$n^{p-1} \left[\frac{(1+\beta)n - (\alpha+\beta)}{1-\alpha} \right]^p \geq m[(1+\beta)n - \beta].$$

Proof. Since $f_j \in \mathcal{CT}(\alpha_j, \beta)$ by using Lemma 2, we observe that

$$\sum_{k=n}^{\infty} k \frac{(1+\beta)k - (\alpha_j + \beta)}{1 - \alpha_j} a_{k,j} \leq 1. \quad (2.24)$$

Thus the proof of Theorem 8 uses Lemma 2, in precisely the same manner as the above proof of Theorem 7 uses Lemma 1, The details may be omitted.

Remark 1. Putting $\beta = 0$ in our results we obtain the results of Choi and Kim [3].

REFERENCES

- [1] E. F. Beckenbach, *On Hölder's inequality*, J. Math. Anal. Appl. 15(1966) 21-29
- [2] R. Bharati, R. Parvatham and A. Swaminathan, *On subclasses of uniformly convex functions and corresponding class starlike functions*, Tamkang J. Math. 28(1997) 17-32.
- [3] J. H. Choi and Y. C. Kim, *Generalizations of Hadamard products of functions with negative coefficients*, J. Math. Anal. Appl. 199(1996) no. 0157, 495-501.
- [4] P. L. Duren, *Univalent Functions, Grundlehren der Mathematischen Wissenschaften*, Vol. 259, Springer-Verlag, New York, Berlin, Heidelberg, Tokyo, 1983.
- [5] A. W. Goodman, *On uniformly convex functions*, Ann. Polon. Math. 56(1991) 87-92.
- [6] A. W. Goodman, *On uniformly starlike functions*, J. Math. Anal. Appl. 155(1991) 364-370.
- [7] S. Kanas and H. M. Srivastava, *Linear operators associated with k -uniformly convex functions*, Integral Transform Spec. Funct. 9(2000) 121-132.
- [8] H. Silverman, *Univalent functions with negative coefficients*, Proc. Amer. Math. Soc. 51(1975) 109-116.
- [9] H. M. Srivastava, S. Owa and S. K. Chatterjea, *A note on certain classes of starlike functions*, Rend. Sem. Mat. Univ. Padova 77(1987) 115-124.

[10] H. M. Srivastava and S.Owa (Eds.), *Current Topics in Analytic Function Theory*, World Scientific, Singapore, New Jersey, London, Hong Kong, 1992.

M. K. Aouf
Department of Mathematics, Faculty of Science,
Mansoura 35516, Egypt.
email: *mkaouf127@yahoo.com*

T. M. Seoudy
Department of Mathematics, Faculty of Science,
Fayoum 63514, Egypt.
Current address: The University College at Al-Jamoom, Umm Al-Qura University,
Makkah, Saudi Arabia.
email: *tms00@fayoum.edu.eg*

G. M. El-Hawsh
Department of Mathematics, Faculty of Science,
Fayoum 63514, Egypt.
email: *gma05@fayoum.edu.eg*